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o A 4 6.98
o A 10 7.04
= 7| -~ 7.08
e =E 4 6.98
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A 10 mg/e
2 7|
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6.0 20
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CH it S
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20 014
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= 2E(°C) / 2E ERT(g)
RE Sk HME|ZH(E) /h 15 °C 20 °C 25 °C
5 0.456 0.553 0.586
10 0.912 1.106 1.172
15 1.368 1.659 1.758
0.03 ppm 20 1.824 2.212 2.344
30 2.736 3.318 3.516
40 3.648 4424 4.688
50 456 5.53 5.86
100 9.12 11.06 11.72
5 4573 5.227 5.859
10 9.146 10.454 11.718
15 13.719 15.681 17.577
20 18.292 20.908 23.436
0.3 ppm
30 27.438 31.362 35.154
40 36.584 41816 46.812
50 4573 52.27 58.59
100 91.46 104.54 117.18
5 7.62 8.711 9.76
10 15.24 17.422 19.52
15 22.86 26.133 29.28
05 ppm 20 30.48 34.844 39.04
30 4572 52.266 58.56
40 60.96 69.688 78.08
50 76.2 87.11 97.6
100 152.4 174.22 195.2
5 15.83 17.41 19.53
10 31.66 34.82 39.06
15 47.49 52.23 58.59
- 20 63.32 69.64 78.12
30 94.98 104.46 117.18
40 126.64 139.28 156.24
50 158.3 174.1 195.3
100 316.6 3482 390.6

(END)



